


















A Monthly:
Door springs and door hardware:

Oil door roller, bearings, and hinges using silicone
lubricant or light oil

DO not operatedooiautomaticai[y or manually if springs [
are broken. Contact a Genie Factory Authorized Deater for

service orcaH Customer Service at 1.800.35.6ENIE. 1

, BaHanceDoor.

- CHosedoor.

- ReleaseCarriage Assembly from Rail Assembly by pulling
the Emergency Release Knob towards the door.

- Raise door manually 3L 4' and verify' that door stays at
that position. See Check Step 2 on page 4.

When the door is 3' _4' above the ground, the door
should stay open. Slight movement is acceptable, ff
the door moves too much, contact a Genie Factory
Authorized Dealer for service or call Customer Service at
1-800=35-GENIE.

- Reattach CarnageAssemb[y to Rail Assembly:
a. Pull the Emergency Release Knob toward Power Head.
b. CHosedoor.

Contact Reverse Test.

- Perform Adjustment 2 on page 8.

WARNING:
If the door fails to reverse on contact with the board
adjust the Close Force Control as specified in Set Limit
Switches and Force Controls on page 7 & 8. If the Opener
still fails, contact a Genie Factory Authorized Dealer for
service or call Customer Service at 1-800-35-GENIE

B Yearly:

Wipe off oid excess Hubdcant from Drive Screw.
Lubricate Drive Screw with Genie Lubricant GLU-3_

UseONLYGenieLubricant (6LU-3). Other lubricants
may damage the Opener.

GLU-3

Lubricant

FCC AND [C CERTIFIED

this device must accept any interference received, indud
ins interference that may cause undesired operation.

C As needed

Replace lightbulbs.(See page 9)

Safe-T-Beam ® System Self-Diagnostic Troubleshooting

Source {Red LED) Sensor {Green LED} Possible Problem solution

ON ON Normal operation None required

• Power Head not powered o Check breakers, fuses, plugs
OFF OFF

• Wiring from Power Head bad • Check wiring for obvious shorts

OFF ON • Wiring to Source missing or bad • Check wiring
• Power has been interrupted o Remove power and reappiy

2 BLINKS, Pause o Beam not aligned o Check Source, Sensor alignment

(Repeat) ON o Beam obstructed o Check for obstruction
o Sensor defective o Contact Customer Service

2 BLINKS, Pause o Wire to Sensor missing or bad o Check wiring
(Repeat) OFF o Sensor defective o Contact Customer Service

-3 BLINKS, Pause • Sensor receiving interference • Determine source of interference

(Repeat) ON o Check for interference from sun-

light or a source unit on an

adjacent door
• Contact Customer Service

4 BLINKS, Pause o Source not sending pubes o Contact Customer Service
ON

(Repeat) • Source defective • Contact Customer Service

1 0 For Help, call 1-800-35-GENIE or visit www, geniecompanyocom

 



GeneraJ TroubJeshooting
Probmem What To Do

Opener does not run
from Wall Control

t

Door Opener starts
for no apparent reason

Door starts down, then

stops before it is
completely closed

Door starts down, then
stops and goes back up

Door will only run dosed

m

Door will only run open

Lights will not turn off

Door starts up, but stop'.
before it is

completely open

Operator runs,but door
does not move

Wall ConsoleVacation
Lock function does
not work

NoisyOperation

1. Check Lock switch on Wall Control (seeWall Console section on Installation Poster).
2. Check Power Source:

* For Grounded Plug Connection.
- Plug a lamp into the electrical outlet used for the door opener.

a. If lamp lights, power source is good.
b. If lamp does not light, check fuse or circuit breaker.

* For Permanent Wiring Connection.
- Check fuse or circuit breaker.

3. Check connections (seeWail Console section on Installation Poster):
At Power Head Terminats and Walt Control.

1. Check Wires to ensure that they are not cut (Stapes can cut insutation and short Wires)
Replace any shorting Staples and shorted Wires.

2. Was Remote Control lost or stolen? If so, erase all Remote Control codes from Receiver's memory
and reprogram for remaining remote controls. (See EraseAll Receiver Memory on page 11).

3. Ensurethat no Buttons are stuck"pushed-in"on Wall Console or any Remote Controls.

1. Check dose Limit Switch setting (page 7 and Installation Poster). Adjust as needed.
2. Check Force Setting (page 7 & 8).Adjust as needed.
3. Check for shorted wires.

1. If a new installation, check Door Arm position.
2. Check operation of Contact Reversefunction.
3. Check Safe-T-Beam¢_Systemfor beam obstruction or misalignment ofLenses.
4. Check Safe-T-Beam_ Systemdiagnostic code.
5. Check dose Forceadjustment (seeSetLimit Switchesand ForceControls on page 7 ). Adjust as needed.
6. Check garagedoorfor binding.

1, Check Open Limit Switch for a short drcuit and for proper wiring,
2, Check Open Force adjustment (seeSet Limit Switchesand ForceContro[s on page 7& 8). Adjust asneeded.
:3, Check condition of garage door and door spring(s),
4, WARNJNIG:If you suspect a probtem with the garage door hardware or springs, contact a Genie

Factory Authorized Dealer for service, or contact CustomerService at 1-800-3S-GENIE
5. Check position of LockSwitch on Console.

1. Check Safe.T_Beam®SystemasdetaiIed in the Safe.T_Beam®System SeIf_diagn_sticTr_ubIesh__ting Chart

(page 10).
2. Check d°se Limit Switch f°r a sh°rt circuit and f°r pr°per wiring'
3. Check CIoseForceadjustment (seeSetLimit Switchesand ForceControls on page 7 & B). Adjust as needed.

m

1. DisconnectWires connecting WallConsole to Power Head(see"WalIConsole Installation"- on Installation poster).
Check their condition and either replace or reconnect.

2. Until a replacement Wail Consolecan be obtained, disconnect Wall Consoleand useonly RemoteControls
or WirelessKeypadto operate Opener.

3. Check for non-compatible wall control.

1. Check (ensure) that garage door and Opener are in good repair, properly lubricated, and properly
balanced as detailed in Maintenance Section.

2, WARNING: If you suspect a problem with the garage door hardware or springs, contact a Genie Factory
Authorized Dea_erfor service, or contact Customer Service at 1-800-35-GENIE,

3. Check Open Limit Switch for a short circuit and for proper wiring.
4. Check Open Forceadjustment (see SetLimit Switchesand ForceControls on page 7 & 8). Adjust as needed.

T

1. EnsureCarriageAssembly isengaged to RailDrive Screw(seeInstallCarriage Assembly -INSTALLATIONPOSTER).
2. Check Forceadjustment (seeSetLimit Switchesand ForceControls on page 7). Adjust asneeded.
3. Check that alI sections of RailDrive Screware turning when Motor runs. If not:

Check condition (not cracked,split, or broken) and placement of Coupler. Replaceas needed.
Check condition (not cracked,split, or broken) and placement of Collarand dip. Replacethem
as needed.

1. EnsureCarriageAssembly is in contact with CloseLimit Switch.
2. Check when door isfully closed,that Carriage activatesClose Limit Switch. If not.adjust position of Close

Limit Switch (Seepage7).

1. Besure all fastenersare tight.
2. Check (ensure) that garage door and Opener are in good repair, properly lubricated, and properly

babnced as described in Maintenance Section (page 10).

11 For Help, call 1-800-35-GENIE or visit wwwogeniecompanyocom

 



WIRmNG DIAGRAM

[_ WA RN iNG,'_ M;ycauseE!ectrii%_Ck--_

CE
o
O

cc

2

THERMAL

PROTECTOR

BLACK

WHITE

GREEN /_

ORANGE

PRIMARY
SEQUENCER

ORANGE

MOTOR

=
=

yELlOW

YELLOW

GREY

PRIMARY SECONDARY

.IGHTS

MOTOR
CAPACITOR

PURPLE

(Vet)

WALL
CONTROL

STB
SYSTEM

RADIOCONNECTOR
........ u

TERMINAL
STRIP

SEQUENCER/_

HOUSING

E

PARTS IDENTIFICATION

[1] ,o o, Assembly

Power Head Parts List

item Part Name

1 Power Head Assembly

A Cover (by Series Model)

B Front Plate Assembly

C Light Socket

D Motor Parts

E Receiver Assembly

F Capacitor(By Series/Model)

G Opto Wheel

H Opto-Luctor Assembly

J Sequencer Assembly

K Circuit Board Bracket

L Transformer

M Terminal Strip
N No.8-32 x 1/2" Hex Head Screw

w/Lockwasher

P No.8-32 x 3/8" Slot Hex Head

Screw w/Lockwasher

R Capacitor Isolator

4 1/4-20 Shoulder Bolt

5 1/4" Flange Nut

39 Coupler

41 No.8-32 x 3/8" Phillips

Hex Head Screw

42 No,8-32 x 3/8" Phillips

Pan Head Screw

48 Mounting Straps

49 Light Lens

1

1

1

1

2

1

1

1

1

1

4

1

1

1

1

1

2

2

1

4

2

2

1

For Help, call 1=800=3S-GENIE or visit wwwogeniecompany, com 1:2

 



PARTS [DENTmFmCATmON

[3] AssemUy
i
i

Parts List (co.t')

item Part Name

1 Power Head Assembly (see page 12)

3 RailAssembly(3-piece)
3A First Rail Section

3B Middle Rail Section

3C End Rail Section

4 1/4"-20 Hex Head Shoulder Bolt

5 1/4"-20 Hex Flange Nut

6 Carriage Stop

7 Rail Clamps

8 5/16"Hex Head Shoulder Bolt

9 5/16"Hex Flange Nut

10 Carriage Assembly
11 Collar

12 Retaining Clip

13 Rail Strap

15 Limit Swit(h Assembly
16 #8-32 x 3/8" Hex Head Screw

17 Emergency Release Cord

18 Emergency Release Knob

19 Emergency ReleaseTag (not shown)
20 Header Bracket

21 Door Bracket

22 1/4"x2"LagScrew

23 Straight Door Arm
24 Clevis Pin

25 Cotter Pin

26 Curved Door Arm

27 3/8"x 7/8"Hex Head Bolt

28 3/8" Hex Flange Nut

Number
mnduded

1

1

1

1

1

2

2

1

4

8

13

1

2

2

1

2

2

1

1

1

1

1

7

1

2

2

1

2

2

Parts List (cont9

29

30

31

33

35

36

37

_gsft

30

varies

varies

1

Part Name

Wire (not shown)

Insulated Staples (not shown)

Wall Button (not shown)

Wall Console (not shown)

Entrapment WARNING Label (not shown)

Safe-T-Beam (STB)Sensor (green LED)

(not shown

Safe-T-Beam Source (red LED)

(not shown)

Safe-T-Beam Bracket (not shown)

Coupler

#10 x 1q/4" Phillips Hex Head Screw

Safety and Maintenance Guide

(not shown)

Wire Clip
5/16" x 3/4"Hex Head Bolt

1/4"-20 x 3/4" Self-tapping Screw

Mounting Straps

Light Lens (see page 12)

Remote Control (not shown)

I

2

I

4

38

39

40

43

1

44 4

46 5

47 3

48 2

49 1

50 varies

For HeJp, ca[[ 1-800-3S-GENIE or visit wwwogeniecompany, com 13

 



Garage Door Opener Accessories Order Form
Formu[ario de pedido de accesorios pare abndores de puertas de garaje
Formulaire de commando des accessoires pour ouvre-porte de garage
Foradditionalaccessoriesnotshown.visitourwebsiteat www.geniecompany.com
Pareaccesodosadicionalesnomostrada,visitenuestrositioweben www.geniecompany.com
pourlosaccessoiressupplBmentairespasmontrB,visiternotrBsiteweb_ www.geniecompany.com

(GI CT390-1 ) 1°Button compact Remote- Allowsremote operationof garagedoor.

Cempdmad Monde do Dgtanda- ProporciBnaroperation remotede la pumtade[ garaje.

TBIOcommandocempacto- Pemmttreop&ation _loign-de porte degarage. P/N 36248R $36.50

(G[FT390-1) 1=ButtonRashlight Transmitter - RemoteControllerwith aFlashlight.
1abrocha transmgor do lintorna- Directorremotecon una[intema.

l=boutonnor FOmottourdo lampodo pocho - LecontrOMlr doign_ avecde lampede poche.

P/N 35657S $45.00

(G[ C[390-3) 3=ButtonCompact Remote- Allowsremoteoperation of 3garagedoors.

Do3 botonos Comprimad Monde do Distancia- PropordOnaroperation remotede tres[aspuertasdd garaje.
3°beutonnor laTOIOcommandocompacto - Pennettreop@ation_loign' trois portes
@garage. P/N 36223R $50.00

(GWC-2W} Dduxo Wall Consdo - OperatesGarageDoor.Independentlight control.Securityvacationlock.
¢onsda do [ujo do pared - Acciona[apuerta dd garaje,Controlde [uzindependiente.Cerradurade
seguridadparavacadones.
La¢onsdo dso [uxodo Mur- Acfionne laporte de garage.Commanded'_dairageind@endante.

Intermpteurde verrouilhgede s_curRO. P/N 35661 R $35.00

(GWKPD} wirdoss Keypad- Operates[ntdlicode"GarageDoor Openerswithout RemoteControlorkey.
Sistomado ontrada per todado numOricoinal_mbrico- AccionaInsabridomsde puertasde garajeIntellicode sin
control remoteo Ilave.

SystOmod'ouvro-porto dogarage _ davior sansfib Actinnnelosouvre-pnrtede garageavecIntellicode sans
td_commande ni cir.

P/N 35691R $50.00

(GLU-3} 314oz, ScrewDdvo Lubricant - Ensuresproperequipment wear protection.

3/4once Lubricanto do tornillo occionar - Asegmacomponentecorrectoprotection per deterioro.

Laonza 3/4Lubrkant do la vis - Garantlrcomponentexactparsyst_meddenseversuser. P/N 35218A. S $5.00

(6W-2) Universal Wall Button- Providesadditionalconvenientinsideoperation of does _>1

BotBndo pared universal- Propordonaoperad6n convenientede [apuerto des@el interior.

neuron mural universe[- ActionneFnuvm-portedeI'int@ieurdu garage. P/N 35693R $3.75

(GPS-5} Perfect Step- Ensuresperfectparking. ZZE_....... _-

StopPorfoctd- Asegurael estacionamientoperfecto.

Butoir Perfect Step'- Permetde stationnmala perfectiondanelegarage. P/N 35677R $4.00

(GABXS} Bolt Drive E×tonsionKit- AnExtenBonthat increasesthe travelof an Openerto accommodatean

eight foot door.

Juogo do oxtonsi6n do cadonadoslizabla- Unaextensionparaaumentarla Iongitudde labarandade Chain
Glide,paraacomodarunapuertade 8pies(2,43m),

N&ossairo do prolongomont du couikseau - Rallongede prdongeanth coursedeI'ouvre-porteChainGlide
pourune porte de2,4m (gpi)de hauteur. P/N 35663R $32.00

(LCBX-8} chain Ddvo ExtensionKit- An Extensionthat increasesthe travelof anOpenerto accommodatean _

eight foot door. _ )

Juogo do oxtonsi6n de cadonadoslizablo- Unaextensionparaaumentar laIongitudde h barandadeChain _._/
Glide,paraacomodarunapuerta de8pies(2,43m).

N&ossaira de prolongamant du coulksoau - Raliongede prdongeant [a coursede ['ouvre-pmteChainGlide
pour uneporte de2,4m (8pi)de hauteur. P/N 35679 R $32.00

(GSX-8} ScrewDrive Extension Kit- AnExtensionto increasetravelof anOperatorto accommodate

eight foot door.

Juago do extension doslizanto do ScrewDdvo- Bnaextensionpare aumentar [acarfarede un abridor _,
desiizaNe,paraacomodaruna puerta de 8pies (2,43m.).

N&essaire de raliongodu ScrewDrive- Rallongede prolongeant la

course@I'ouvre-portepour une portede 2,4m (8pi) de hauteur.(GIRUqT) P/N 35678R $32.00

(60WATT)Enhancad/BoughServiceLight Bulb- Ensuresproperequipment compatabilW /%
Bembilla do60 Vatios- Aseguracomponentecorrectode sBtema. _--_"

Edairago de 60 WATT-Garantircomponentexactparsysteme. P/N 26210A.S $2.73

(GER-2} Emergenoy Release }(it - Provides access to garage from outside in the event of
an electrical power failure.

Juego de pica-porte de pastille - Permitir entrtada desde par fuera de garaje porque corte
de el&trim.

NBcossairee de D_dencbement de seceuro - Le n&essaire de d&lenchement

de secours est consupour vous perme_tre d'accOder Rvotre garage depuis
I'extBrieur en cos de panne de courant et Iorsqu% P/N 35675R $20.00

STB Adapter Brackets (2) - Used in conjunction with standard STBBrackets.They provide

additional clearance and mounting options.

EI adaptador pone entre par_ntesis (2) - Usado en uni6n con par_ntesis uniformes de
montar de STB,ellos proporcionan el espacio libre adicional junto con mortar las opdones.

Croohets d'adaptateur (2} - UtilisB conjointement avec STBstandard mentor les crochets,

ils fournissent le dBgagement supplementaire avec mentor d'options. P/N 34439R.S $4.37

How many?
LQu_ntos_

Ordering Instructions
No C.O.D.shipments. Please include check or money order,
made payable to The Genie Company. Do not send cash.
Allow 34 weeks for delivery.
1-800-3544643. Please have part number and credit card
ready. Mail Order Form to: Genie Company, 22790 Lake
Park Blvd, Alliance, Ohio 44601 .We accept Visa or
Mastercard on phone orders only.

Pleaseadd local salestax if you leUde in one of the states listed

California, Connecticut, Florida, Georgia, Illinois, Indiana, Maryland,
Massachusett_ Michigan, New Jersey, New York, Ohio, Tennessee,

Virginia, Wisconsin

TOTALORDER

SHIPPING& HANDLING

STATESALESFAX

GRAND TO]:AL

S

S 5.o0

S

S

Las Instrucciones que Ordenan
No se aceptan pedidos de page centre entrega (COD).
Sirvase incJuir su cheque o sire postal, Jacuenta pagadera
hecha aThe Genie Company. No env[e dinero en elective.
ConcBdanos 3 a 4 semanas para[a entrega. 1-800-35&3643.
Sirvase tenor [istos los nOmeros de[ mode[o y de [a tadeta de
cr_dito. Enviar hater un pedido de mercancia a: Genie
Company, 22790 Lake Park Bird, Alliance, Ohio
44601Aceptamos pedidos telefBnicos de Visa o Mastercard.
Silvase aglegal el impue to de venta local si usted reside en uno de los

Uguientes estados;

California, Connecticut, Florida, Georgia, Illinois, Indiana, Maryland,

Massachusetts, Michigan, New Jersey, New Yolk, Ohio, Tennessee,

VOginia,Wisconsin

TOEAL DEL PEDIDO $

FLETEYMANEJO $ 5.00

IMPUESTODEVENTAS ES-FATAL $

GRANTOTAL $

Instructions Commandant
Pasd'exp_dition centre remboursemencVeuillez indure un ch#que
ou un mandat bancake,le payablefait aTheGenie Company,
N'envoyezpasd'argent comptam.Accordezde 3_4 semainespour
la [ivraison.1-800-354 3643,Ayezsous[amain [e num&o de [a piece
et celuide [acarte de cr_dicMettre _[a poste learmgement a:Genie
Compan_ 22790LakeParkBlvd,Alliance,Ohio 4400I.Nousaccep
tons loscommandospar t_l@hone avecpaiement par cartede
credit Visaou Mastercard.

VeuiIlez indJquel los taxes de vente locales si vous i _sklez clans I'un des _,tats

repertories ci dessous

California, Connecticut, Florida, Geomia, Illinois, Indiana, Mawland,

Massachusetts, Michigan, New Jersey, New Yell<,Ohio, ]%nnessee,
Vagirda,Wiscon in

COMMANDE TOTALE $

MANUTENTION ET EXPEDITION $ 5.00

-EAXE DE VENTE $

TOTAL GLOBAL $

SHIP ORDERTO:

ENVIAR MEfiCANCIA CON:

EXPEDIERMARCHANDISE POUR:

NAME/ NOMBflE/ NOM

ADDRESS/ DIRECCION/ ADfiESSE

CITY/ CIUDAD/ WLLE

STArE/ EflTADO/ ETAT

ZiP / ( ODIGO POSTAL / CODE POSTAL

(Prices subject to change without notice)

(Valoran el cambio con sujeci6n a sin nora)

(Lee prix assujettissent pour changer sans [a notification)

For Help, call 1-800-35-GENIE or visit www.geniecompany.com

 


